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[a—

10.

11.

12.

13.

14.

15.

16.

Tick () the odd one out.

(a) Sea
(a) Mother -in-law
(a) 144

(a)

(a)

Tick (/) the correct answer.

OLAGYAN
(a) Orange
LTAIERNO
(a) Elephant
OICEDRTIN
(a) Reaction
UBRNME
(a) Brown
APRORT
(a) Tiger
Water

(a) Nitrogen
Respiration
(a) Mouth
Garden

(a) Gardener
Festival

(a) Dance
School

(a) Doctor

Tick () the correct Option.
1.SMALL 2. SUCCESS

(a)3,1,4,2
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(b) River
(b) Nephew
(b) 169

(b)

(b) Analogy
(b) Number
(b) Direction
(b) Mango
(b) Carrot
(b) Oxygen
(b) Lungs
(b) Animals
(b) Music

(b) Animals

3.SECRET

(b)2,4,1,3

(c) Ocean
(c) Uncle
(c)200

(c)

(c)

(c) Yellow
(c) Language
(c) Calender
(c) Yellow
(c) Parrot
(c) Carbon
(c) Heart

(c) Plants

(c) Food

(c) Students

4. SMART
(c)4,1,3,2

MM-70

(d) Swimming pool
(d) Father
(d) 196

(d)

(d)

(d) Narrator
(d) Relation

(d) Distroy

(d) Number
(d) People

(d) Gases

(d) Hand

(d) Stones

(d) Celebration

(d) Nurse

(d) None ofthese



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

1. Grammer
(a)2,3,1,4
1. Precede
(a)1,2,3,4
1. Sajewat
(a)3,1,4,2
1. Relieve
(a)1,2,4,3

2. Granary

2. Precise

2. Segvan

2. Ringlet

3. Gradient
(b)2,1,4,3

3. Precept
(b)4,1,3,2

3. Sajevar
(b)1,2,4,3

3. Rightful
(b)4,1,3,2

4. Grand
(c)3,1,2,4

4. Preach
(c)3,2,1,4

4. Sajewet
(c)4,1,2,3

4. Rinse
(c)2,4,1,3

English Section

What is the plural form of ‘leaf” ?

(a) leafs

(b) leaves

How many kinds of gender are there ?

(a) five

(b) four

Which person is the word “You’ ?

(a) 1st person

(b) 2nd person

(c) leafes

(c)two

(c) 3rd person

A word that is used to relate a noun or pronoun to other words is called-

(a) noun (b) pronoun (c) preposition
The boys ran the house.

(a)in (b) into (c)on

The sky is my head.

(a) above (b)on (c) beside
Look and you will see a rainbow in the sky.

(a)in (b)up (c) near

The boy is standing two trees.

(a) between (b) among (c)on

Neena walked the temple.

(a)to (b) at (c)on

We usually travel train.

(a)at (b) with (c) for
Adjective of is used to answer how many

(a) quality (b) quantity (c) number

A word that is used to describe a person, place , object or a thing is called -
(a) preposition (b) sentence (c) conjunction
When we compare more than two, we use degree.

(a) postitive (b) comparative (c) superlative
Choose the article in this sentence ?

‘The sun rises in the east’.

(a) sun (b) in (c) the

Which is the definite article ?

(A (b) An (c) The

(d)4,3,1,2

(d)4,2,3,1

(d)2,3,1,4

(d) 1,3,2,4.

(d) none of these

(d) one

(d) none of these

(d) adverb

(d) between

(d) across

(d) under

(d) above

(d) under

(d) by

(d) bothaand b

(d) adjective

(d) none of these

(d) east

(d) None of these



36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

Mathematics Section

The numerator of a unit fractionis

(a)2 (b)3 (1
Half of 8 girls = girls.
(a)2 (b4 (c)8
Write fraction for (the shaded portion )

2 4 1
@7 (b) o ©7
Add -
2 5
i

3 2 7
@3 (b) ¢ © 3

. 10

The simplest form of T

2 3 5
@) 3 ®) 5 © 3
Subtract -
5 3
9 9

5
@7y ®) 5 © 75

5 .
In = ; Sisthe
(a) Numerator (b) Denominator (c) Fraction
When N <D, the fractionis called a/an fraction.
(a) Improper (b) Mixed (c) Unit
When N > D, the fraction s called a / an fraction.
(a) Mixed (b) Improper (c) Proper
Write the equivalent fraction of % is

3 4 4
@7 (b) = © %
Fraction with same denominators are called
(a) like (b) unlike (c) proper
Fractions with different denominators are called fractions.
(a) like (b) unlike (c) proper

Find the fraction that is not equivalent to the rest -

1 2
(a) 5 (b) 10

5
(c) s

(d) none of these

(d)1

3
(d 1

(d) None of these

1
(c) 9

(d) none of these
(d) Proper

(d) None of these

N
@ 5
(d) unit

(d) imporper

4
(d) I



49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

1
Change 2 3 into an improper fraction.

6 5 4
@) 3 () 3 © 3
Change % into a mixed number.
@13 o 1 ©15
Divide 320 + 320 =
(@)1 (b) 0 (c) 320
5823 x 1=
(@0 (b) 5823 (o)1
Multiplicationisrepeated
(a) subtraction (b) division (c) multiply
Dividend = Divisor % quotient +
(a) Remainder (b) divisor (c) quotient
5769 x5 is
(a) 28854 (b) 28845 (c)46152

E.V.S. Section

Roots help the plant to stand
(a) Upward (b) Downward (c) Firmly
Soil binds the -
(a) Leaves (b) Fruits (c)Roots
Wheat is the example of -
(a) tap root (b) aerial root (c) fibrous root

The seed grows in the presence of -
(a) soil (b) water (c) sunlight
The part of the plant that grows below the ground level is -

(a) root system (b) shoot system (c) tap root

It is the flat, broad part of the leaf.

(a) midrib (b) petiole (c) lamina

Which is the colourful and the beautiful part ofa plant ?

(a) leaf (b) root (c) flower

Plant provides us -

(a) nitrogen (b) oxygen (c) carbondioxide

is known as the kitchen of'the plant.
(a) root (b) stem (c) leaf

7
(d) 3

|
(d) 27

(d) 640

(d) none of these
(d) addition

(d) dividend

(d) 5769

(d) None of these
(d) Water

(d) midrib

(d) all of these
(d) aerial root

(d) veins

(d) fruit

(d) hydrogen

(d) flower
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65.

66.

67.

68.

69.

70.

Plants give us various useful products like
(a) fruits (b) vegetables

Functions of stem are -

(a) support (b) storage

Aerial roots grow downwards -

(a) direction (b) below the ground
Tap root include -

(a) carrot (b) radish

How many types of roots are there ?

(a)2 (b)3

Plant has -

(a) Root system (b) shoot system

(c) wood

(c) transportation

(c) upper most layer

(c) banyan tree

(c)4

(c) aerial root

(d) all of these

(d) all of these

(d) opposite side

(d) bothaand b

(d)5

(d) Bothaandb



